Keeper 1.3 — Trig, Inverse Trig, and Solving Trig Equations

TRIGONOMETRIC VALUES OF SPECIAL ANGLE REFERENCE ANGLE RULES
EVALUATING TRIGONOMETRIC FUNCTIONS
OF ANY ANGLE

Step 1:Find the reference angle 6'.
Step 2: Find the values of the trigonometric function for 8'.

Step 3: Using the quadrant in which the terminal side of

Lies, determine the sign of the trigonometric function value W
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***Unit Circle Values should be MEMORIZED!!! You should not have to draw a unit circle
every time!

Examples: Evaluate the Trig Function from MEMORY
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SUMMERY OF INVERSE TRIGONOMETRIC FUNCTIONS)

Function Domain Range

y=sin"x [FL1]  [Fa2.22]
= arcsinx. where x =siny

v=cos'x [-L1] [0.7]

= arccosx, where x = cosy

y=tan"'x (—=2.»)  (-7/2.7/2)
= arctan x, where x = tan y’

Examples: Evaluate the Expressions by MEMORY
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identities.

=Try to get trig functions of the same angle.
=Get one side equals zero and factor.

=If the angle you are solving for is a multiple of 6,

don't forget to add 2n to your answer for each
multiple of 6.

HELPFUL HINTS FOR SOLVING
TRIGONOMETRIC EQUATIONS

=Try to get equations in terms of one trig function
by using identities.

*Be on the look-out for ways to substitute using

Examples: Solve the trig equation for 0 < x < 27
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Cos x = =\

-

¥= 3

27. tanx(cscx+2)=0
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26. 2+4+secx=0

e = =2
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